BID RESULTS

CK09MERCER2017-15 DIESEL FUEL AND WINTER MIX AND DEF FOR THE COUNTY OF MERCER AND THE MERCER COUNTY COOPERATIVE MEMBERS

BID OPENING DATE: NOVEMBER 9,2017

AWARD FOR A PERIOD OF TWO (2) YEARS; BASED UPON DAILY AVERAGE FOR ULTRA LOW SULFUR DIESEL FUEL AS PUBLISHED BY THE OPIS OIL PRICE DAILY;TWO ADDENDUMS ISSUED	WILL EXTEND TO CO-OP	WILL NOT EXTEND TO CO-OP	WILL EXTEND TO CO-OP	WILL EXTEND TO CO-OP	
NUMBER OF RESPONDENTS	4				
NAME OF BIDDER	PETROLEUM TRADERS CORPORATION	RIGGINS, INC.	MAJESTIC OIL COMPANY, INC.	J. SWANTON FUEL OIL CO., INC.	
ADDRESS	7120 POINTE INVERNESS WAY	3938 S. MAIN STREET	2104 FAIRFAX AVENUE	37 CENTER AVENUE	
CITY, STATE, ZIP	FORT WAYNE, IN 46804	VINELAND, NJ 08360	CHERRY HILL, NJ 08003	ATLANTIC HIGHLANDS, NJ 07716	
CONTACT	GAYLE NEWTON	STEVEN RIGGINS	LISA D. TILORY	JIM ANDERSON	
TELEPHONE	800 348 3705 X4	856 825 7600	856 751 8801	732 708 0075	
FAX	260 203 3820	856 269 9664	856 751 8824	732 708 0175	
E-MAIL	GNEWTON@PETROLEUMTRADERS.COM	JMERLINO@RIGGINSOIL.COM	MAJESTICOILNJ@GMAIL.COM	SWANTONHVAC@AOL.COM	
WILL EXTEND TO THE COOP MEMBERS	YES	NO	YES	YES	
ADDENDUM ONE & TWO	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	
INSURANCE REQUIREMENTS	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	
IRAN CERTIFICATION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	
INDEMNIFICATION AND INSURANCE REQUIREMENTS	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	
STOCKHOLDER DISCLOSURE	OK	OK	OK	OK	
NEW JERSEY BUSINESS REGISTRATION	OK	OK	OK	OK	
EIC	23095 EXPIRES 6.15.19	2940 EXPIRES 11.15.19	7090 EXPIRES 3.15.20	44199 EXPIRES 10.15.23	
EXECUTIVE ORDER 98-1	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	
EXHIBIT A	INCLUDED	INCLUDED	INCLUDED	INCLUDED	
HOLD BEYOND 60 DAYS	YES	YES	YES	YES	
CONTINUITY OF SERVICE	YES, SEE PAGE 49	YES, SEE PAGE 49	YES, SEE PAGE 49	YES, SEE PAGE 49	
EMERGENCY SERVICE FOR COUNTY OF MERCER	YES	YES	YES	YES	
BIDDER'S SOURCE OF SUPPLY	VARIOUS TO INCLUDE GLOBAL, BUCKEYE, SUN COMPANY, VALERO, ETC.	PBF PBFX PAULSBORO	PHILADELPHIA ENERGY SUPPLY; BUCKEYE ENERGY;SUNOCO LOGISTICS	SHELL,GULF,CITGO	
exceptions	NONE, MATH CALC FOR AVERAGE	NONE, MATH CALC FOR AVERAGE	NONE, MATH CALC FOR AVERAGE	YES,SEE PAGE 51;MATH ERROR FOR AVERAGE	
FATAL FLAW	NO	NO	NO	МО	

CK09MERCER2017-15 DIESEL FUEL AND WINTER MIX AND DE	F FOR THE COUNTY OF MERCER	AND THE MERCER COUNT	Y COOPERATIVE MEMBERS	
	PETROLEUM TRADERS CORP.	RIGGINS , INC.	MAJESTIC OIL COMPANY	J. SWANTON FUEL CO.
OPIS PRODUCTION, OIL PRICE DAILY OCTOBER 10,2017; ULS DIESEL, AVERAGE OF HIGH AND LOW PHILADELPHIA PRICING				
285,000 GALLONS DIESEL FOR THE COUNTY OF MERCER				
105,600 GALLONS PARK COMMISSION				
1.87025				
POSTED PRICE PER GALLON ON OCTOBER 10,2017; AVERAGE BETWEEN 1.7412 AND 1.9993	1.87025	1.87025	1.87025	1.87025
DELIVERY CHARGE OR DISCOUNT PER GALLON AS INDICATED BY EITHER A PLUS (+) OR MINUS (-)	0.11380	0.05450	0.02160	0.06000
TOTAL PRICE (A PLUS B) PER GALLON FOR COOP MEMBERS	1.98405	1.92475	1.89185	1.93025
TOTAL COST FOR 390,600 GALLONS FOR THE COUNTY OF MERCER'S REQUIREMENTS	774,969.93	751,807.35	738,956.61	753,955.65
COST PER GALLON FOR WINTER MIX FOR COUNTY AND THE COOP MEMBERS				
KEROSENE OR CHEMICAL	CHEMICAL	CHEMICAL	FUEL OX COLD CHARGE	CHEMICAL
POSTED PRICE PER GALLON	1.87025	1.87025	1.87025	1.87025
DELIVERY CHARGE OR DISCOUNT PER GALLON AS INDICATED BY EITHER A PLUS (+) OR MINUS (-)	0.13880	0.07450	0.03160	0.08000
TOTAL PRICE (A PLUS B) PER GALLON	2.00905	1.94475	1.90185	1.95030
COST OF DIESEL EXHAUST FLUID FOR THE COUNTY OF MERCER AND COOP				
5,000 GALLONS OF DEF FOR THE COUNTY OF MERCER, MOTOR POOL				
30 GALLONS DIESEL FOR THE COUNTY OF MERCER, PARK COMMISSION				
COST PER GALLON INCLUDING DELIVERY	\$ 1.50	\$ 1.89	NO BID	\$ 1.55
TOTAL COST FOR 5,030 GALLONS	\$ 7,545.00	\$ 9,506.70	NO BID	\$ 7,796.50
DEF BRAND/MANUFACTURER	BRENNTAG	BRENNTAG	NO BID	BLUE SKY

BID RESULTS						
CK09MERCER2017-24 COLLISION REPAIR AND			ITY COOPERATIVE CONTRACT PURCHASING			
SYSTEM FOR A PERIOD OF TWO (2) YEARS BID OPENING: NOVEMBER 9, 2017						
AWARD FOR A PERIOD OF TWO (2) YEARS; AWARD BASED UPON THE LOWEST GRAND TOTAL FOR BODY AND PAINT LABOR PLUS MECHANICAL LABOR FOR EACH CATEGORY; MAY BID ON OPTION (A) (B) OR (C) OR ALL THREE.	AWARD OPTION A	AWARD A OPTION AND B	AWARD OPTION C			
NUMBER OF RESPONDENTS	3					
NAME OF BIDDER	LUCKYS AUTO BODY REPAIR	ED & GUYS AUTO BODY	HAINESPORT ENTERPRISES, INC.			
ADDRESS	1108 DIVISION STREET	1182 S. OLDEN AVENUE	1466 RT. 38 P.O. BOX 449			
CITY, STATE, ZIP	TRENTON, NJ 08611	HAMILTON, NJ 08610	hainesport, nj 08036			
CONTACT	JOHN LUCKY	MARTIN CHELL	THOMAS C. AMEMDOLA			
TELEPHONE	609 695 6979	609 393 4080	609 267 7392			
FAX	609 695 6990	609 393 4083	609 267 3880			
E-MAIL	LUCKYSAUTOBODY@AOL.COM	EDANDGUYS@AOL.COM	TOMAMENDOLA@HOTMAIL.COM			
WILL EXTEND TO THE COOP MEMBERS	YES	YES	YES			
INSURANCE CERTIFICATE	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED			
IRAN CERTIFICATION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED			
INDEMNIFICATION AND INSURANCE REQUIREMENTS	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED			
STOCKHOLDER DISCLOSURE	OK	OK	OK			
NEW JERSEY BUSINESS REGISTRATION	OK	OK	OK			
EIC	31712 EXPIRES 11.15.24	19949 EXPIRES 10.15.23	11929 EXPIRES 8.15.19			
EXECUTIVE ORDER 98-1	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED			
EXHIBIT A	INCLUDED	INCLUDED	INCLUDED			
HOLD BEYOND 60 DAYS	YES	YES	YES			
EMERGENCY SERVICE FOR COUNTY OF MERCER	YES	YES	YES			
REFERENCES	MOTORPOOL TO CHECK	MOTORPOOL TO CHECK	MOTORPOOL TO CHECK			
AUTO BODY REPAIR LICENSE ISSUED BY THE NJ MOTOR VEHICLE COMMISSION	00700A EXPIRES 09.2018	03577A EXPIRES 9.2018	00267A EXPIRES 9.2018			
HEAVY DUTY VEHICLE ENDORSEMENT ONLY IF BIDDING OPTION C, VEHCILES < 14,000 GVW	NO BID	NO BID	000012 EXPIRES 9.2018			

NONE

NO

NONE

NO

NONE

NO

EXCEPTIONS

FATAL FLAW

THE COUNTY SHALL	PAY LIST PRICE FOR	ALL PARTS. HOURS	ARE ESTIMATE	D AND THE	COUNTY SHALL OF	VLY PAY FOR T	HOSE ACTU	JAL SERVICES RENDE	RED	
	LUCKYS AUTO BODY			ED AND GUYS				HAINESPOR	₹T	
OPTION (A) Automobile, Light Truck & Van Repairs. Up to 9,200 GVW	INSERT COST PER HOUR	ESTIMATED HOURS	TOTAL	INSERT COST PER HOUR	ESTIMATED HOURS	TOTAL	INSERT COST PER HOUR	ESTIMATED HOURS		TOTAL
BODY LABOR AND PAINT LABO	\$ 28.00	30	\$ 840.00	\$ 26.00	30	\$ 780.00	\$ 29.00	30	\$	870.00
MECHANICAL LABOR	\$ 28.00	10	\$ 280.00	\$ 26.00	10	\$ 260.00	\$ 29.00	10	\$	290.00
BASIS OF AWARD		GRAND TOTAL	\$ 1,120.00		GRAND TOTAL	\$ 1,040.00		GRAND TOTAL	\$	1,160.00
OPTION (B) Medium Duty Truck & Bus Repairs 9,201 to 13,999 GVW	INSERT COST PER HOUR	ESTIMATED HOURS	TOTAL	INSERT COST PER HOUR	ESTIMATED HOURS	TOTAL	INSERT COST PER HOUR	ESTIMATED HOURS		TOTAL
BODY LABOR AND PAINT LABO	\$ 28.00	30	\$ 840.00	\$ 26.00	30	\$ 780.00	\$ 30.00	30	\$	900.00
MECHANICAL LABOR	\$ 28.00	10	\$ 280.00	\$ 26.00	10	\$ 260.00	\$ 30.00	10	\$	300.00
BASIS OF AWARD		GRAND TOTAL	\$ 1,120.00		GRAND TOTAL	\$ 1,040.00		GRAND TOTAL	\$	1,200.00
OPTION (C) Heavy Duty Truck & Bus 14,000 GVW and OVER	INSERT COST PER HOUR	ESTIMATED HOURS	TOTAL	INSERT COST PER HOUR	ESTIMATED HOURS	TOTAL	INSERT COST PER HOUR	ESTIMATED HOURS		TOTAL
BODY LABOR AND PAINT LABO	\$ -	30	\$ -	\$ -	30	\$ -	\$ 65.00	30	\$	1,950.00
						·	_		+	
MECHANICAL LABOR	\$ -	10	\$ -	\$ -	10	\$ -	\$ 70.00	10	\$	700.00